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#F!'/bin/bash

Eldo_backup () { % y funecion do_ backup
counter=_
for file in $(ls £1) do

done
echo "Scouncer failes
¥
if | then
fi
if [ -4 ¢ 15 then
if [ -4 &% 1: then
echo ":52: descinaticon directory found®
do_kackup
else
S imkdir 52}
eche ":£Z: beckop dizesrt L
do kbackup
3 -
exit ¢
jeno g s
exit 2
fi

carefully

to identify what it does

Figure 4
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Question 1:
a.
i. Name the four essential components of Disk Operating System (DOS) (4 marks)
ii. State three differences between file ﬁaming conventions in DOS and UNIX (3 marks)
iii. State three differences between DOS and UNIX commands (3 marks)
b.
i. What are wildcards? (2 marks)

ii. Explain any three wildcards you know, giving at least one example in each case (3 marks)

Question 2:

a. With the aid of a suitable diagram, briefly describe the UNIX architecture (3 marks)
b. Figure 1 shows the result of executing the Linux command 1s -1 in a directory
i.  Briefly describe each of the listed files. (7 marks)

ii. ~ What will be the result of executing 1s -1 in the same directory after executing the commands
chmod 751 assignment
rm ahot
mkdir imtexams
chmod u=rx,o-rwx Videos
[Take the following assumptions: current user is imt, and is in group sict; a directory has two (2)
links and size 4096 KB upon creation; current system date is 2017-10-23 08:30 ] (5 marks)

Question 3:
a. Given that Figure 2 is a segment of a Linux file system tree. How would you turn the structure of
the tree to the one shown in Figure 3 (4 marks)
b. Describe each of the following terminals in the Linux shell (4 marks)

i. ahot@imt :~$
ii. ahot@imt:/$
iii. ahot@imt : ~#
iv. ahot@imt:/#

c. Considering that you are in the directory IMTCourses in Figure 3:
i. ~ What would be the outputs of issuing the commands 1s ./ and 1s ../ (2 marks)
ii.  Describe, with a suitable diagram and comments highlighting the effect(s) of each command,
the gew structure of the tree after issuing the following commands in the order specified:
mv MT321 ../CITCourses/
w*
cd ..
rm -r IMTCourses (5 marks)
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Question 4:

Assuming your Linux distribution comes with Bourn Again Shell (i.e., bash);
d.
i Carefully study the shell script in Figure 4 and describe, concisely, what it does (3 marks)
ii. Given that the name of the script is “imtbk™ , briefly explain (including the use of a file tree) the
effect(s) of executing it from the directory courselist shown in Figure 2 as follows:
imtbkp ./ imt321.exam (3 marks)

b. Write a simple shell script that takes a non-empty directory as a parameter and merges the contents of its
sub-directories into itself (the parent directory) while deleting the initial subdirectories. For example,

when it takes the directory “courselist™ in Figure 3 as parameter, it should turn the file tree structure
to the one in Figure 2.

Add sufficient comments to make your script comprehensible. (9 marks)
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